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Hide the mess while putting the most
beloved items on display with Classic.
The Classic Bookcase was designed by
Henrik Tengler in 2015 and is an exclu-
sive system with endless possibilities.
The system offers elegant and exible
storage solutions for the private home
or the office. Choose your preferred
look by selecting and combining differ-
ent types of woods and colours for the
body and fronts. It is entirely up to you!

The Classic Bookcase System is only
made to order. The veneer is select-
ed and joined by our cabinet makers,
so the grains of the wood line up per-
fectly, resulting in beautiful and unique
pieces. Classic is available in oak, wal-
nut, teak and oregon pine veneer with
painted or veneered doors and drawer
fronts, with solid brass handles.

PRODUCT INFORMATION

YEAR 2017

MATERIALS Shelf unit in oak, walnut, Oregon
pine or teak veneer
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MODELS & DIMENSIONS

HT 8420
W: 41.75 cm

D: 36.5 cm
H: 20.5 cm
Weight: 9 kg
Com: .06 m?®

HT 8820
W: 80 cm

D: 36.5 cm

H: 20.5 cm
Weight: 13 kg
Com: @.11 m?

HT 8821

W: 80 cm E

D: 36.5 cm

H: 20.5 cm
Weight: 19 kg
Com: @.11 m?

HT 8430
W: 41.75 cm

D: 36.5 cm
H: 37.5 cm

Weight: 13 kg
Cbm: ©.10 m?

HT 8433

W: 41.75 cm —
D: 36.5 cm

H: 37.5 cm
Weight: 12 kg
Com: ©.10 m®

HT 8434

W: 41.75 cm —
D: 36.5 cm

H: 37.5 cm

Weight: 12 kg

Cbm: 0.10 m®

HT 8830

W: 80 cm

D: 36.5 cm

H: 37.5 cm
Weight: 22 kg
Cbm: ©.18 m®
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ACCESSORIES

HT 8474

W: 41.76 cm
D: 36.5 cm

H: 73 cm
Weight: 21 kg
Cbm: @.18 m?

HT 8870

W: 80 cm

D: 36.5 cm

H: 73 cm
Weight: 31 kg
Cbm: @.32 m?

HT 8871

W. 80 cm

D: 36.5 cm

H: 73 cm
Weight: 47 kg
Com: ©2.32 m?

HT 8872

W: 80 cm

D: 36.5 cm

H: 73 cm
Weight: 37 kg
Com: ©.32 m?

Wall mounting
HT 8801

Small base
HT 8402
41.75 cm
36.5 cm
80 cm

T o =

Large base
HT 8802

80 cm
36.5 cm
80 cm

I o =

Legs
HT 88@3

One set of 4 legs in solid wood

Extra shelf
HT 8804
41.75 cm
36.5 cm
80 cm

T o =




